a(0 z) (um) tor PV Ratio a(0y) (um) for PV Ratio (0 X) (um) tor PV

Ratio

10?

103 s st

G(0 X) (um)

=
o
W

10
ek 9
l.lf g
:
oobll i1: ¢ JLEHE sl
1 10 Sum of tralc?< p, (GeVv)
DUV _CRF_S0fTQCD
——— DOM”_mKkFit_softQCD
—— DOM™mkFit"softQCD-newTr
10— -
F 1o h S
C ik 3
LI =
HT(RE °
- ’;. b
102:-:: -
L.af 9
r I
o 24
osf
2
1 0 Sum of tralc(l)< p, (GeV)
3 ~
10 Fo e
[ =
L N
L % 10°
10%k:: é:'—

1 10

2
Sum of tralc?< p, (GeVv)

Ratio

10?

2
10Sum of trac]kop (GeV)
T

H ; ; - H -
1 10 S%Pn of trac%(opT (Ge\;‘)04



	Contents
	Page 1


